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 / ndf 2χ  39.63 / 10
Prob   1.968e-05
Conversion  0.0± 1.39e+04 
Thres. P 1  0.004± 1.302 
Const. 1  22.8±  3251 
Thres. N  0.0±     7 
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Thres. P 1  0.008± 1.026 
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 / ndf 2χ  6.669 / 12
Prob   0.8787
Conversion  0.0± 1.39e+04 
Thres. P 1  9.305e-03± 1.621e-10 
Const. 1  3.07± 66.22 
Thres. N  0.0±     7 
Const. 2  12.3± 294.1 
Thres. P 2  0.029± 4.961 
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Prob   0.9228
Conversion  0.0± 1.39e+04 
Thres. P 1  0.0137± 0.2093 
Const. 1  8.7± 270.6 
Thres. N  0.0±     7 
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Prob   4.561e-08
Conversion  0.0± 1.39e+04 
Thres. P 1  0.0±   0.2 
Const. 1  3.35± 59.96 
Thres. N  0.0±     7 
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Thres. P 2  0.027± 1.582 

Pressure(PSIA)
0 1 2 3 4 5 6 7 8 9 10

C
ou

nt
s

0

200

400

600

800

1000

1200

1400

 / ndf 2χ  58.32 / 12
Prob   4.561e-08
Conversion  0.0± 1.39e+04 
Thres. P 1  0.0±   0.2 
Const. 1  3.35± 59.96 
Thres. N  0.0±     7 
Const. 2  10.9± 282.2 
Thres. P 2  0.027± 1.582 

testbeam_16gev CC1 

Pressure(PSIA)
0 1 2 3 4 5 6 7 8 9 10

 / ndf 2χ  33.09 / 12
Prob   0.0009377
Conversion  0.0±  4000 
Thres. P 1  0.0±   0.2 
Const. 1  6.43± 79.06 
Thres. N  0.0±   3.5 
Const. 2  19.5± 224.2 
Thres. P 2  0.084± 1.573 

Pressure(PSIA)
0 1 2 3 4 5 6 7 8 9 10

C
ou

nt
s

0

200

400

600

800

1000

1200

 / ndf 2χ  33.09 / 12
Prob   0.0009377
Conversion  0.0±  4000 
Thres. P 1  0.0±   0.2 
Const. 1  6.43± 79.06 
Thres. N  0.0±   3.5 
Const. 2  19.5± 224.2 
Thres. P 2  0.084± 1.573 

testbeam_16gev CC2 

����
� ��� #��� ���
�' 16.5GeV �  ����+ �����+ ��� ����

��� �
�  
����
� ��� �����
 ��
����

���  
����
 �� ����� �� ��� �� ���� �' 
�� ��� ����
� ����� 
�� ���� 
�
�������

1



Pressure(PSIA)
0 1 2 3 4 5 6 7 8 9 10

Pressure(PSIA)
0 1 2 3 4 5 6 7 8 9 10

C
o

u
n

ts

0

20

40

60

80

100

120

140

160

180

200

testbeam_8gev SC 

Pressure(PSIA)
0 1 2 3 4 5 6 7 8 9 10

 / ndf 2χ  0.9685 / 8
Prob   0.9984
Conversion  0.0±  4000 
Thres. P 1  6.803e-01± 6.962e-11 
Const. 1  1.14± 17.65 
Thres. N  0.0±   3.5 
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Thres. P 3  0.366± 6.742 
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